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2. Line graph because its trying to show the temperature over a period of time.

3. Petsbar, height of sunflowerline, temperaturebar, Children clubsbar
Reasons may vary
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Fluency 2
The label on the x axis should be ‘Days of the Week’.

The label on the y axis should be ‘Rainfallin cm’.

Fluency 3
The rainfall on Friday was 1cm.
The heaviest rainfall was on Monday and Thursday.

The total rainfall for the week was 15cm.
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1.

The steepest part of the ride was probably between 10am and 12pm
because that was when the shorfest distance was covered. It could
also have been between 12pm and 1pm for the same reason.

. Jerry could have stopped for lunch between 12pm and Tpm as that is

when the shortest distance was covered. This suggests that Jerry may
have stopped for a break.

. If the line continues down through zero, it would suggest that Jerry set

off at about 8:15 - 8:30am.

. If Jerry covered 38km on his trip, he could have fravelled 19km from

home.

. Jerry covered more distance between 1pm and 3pm because he was

probably going back down the steepest part of his ride.
P!




